SCHOOL BASED ASSESSMENT 2021 GRADE 8
ISLAMIAT PART - A (Objective Type)
Part-A: 30 Marks, Part-B (Nazra Quran): 20 Marks, Total: 50 Marks

School Name :

Tehsil: District:

Student Name: Section:

Roll Number: Date:
General Insutrction for Students: ::;_UA‘-dfécﬁﬂ
1) Use mask and keep 3 feet distance from each other. -&{PG(&S&IK’JU{:BI%JL )
2) Read carefully and attempt all questions. -U:/U’ .:«Ulfrl/"ﬁlw."{cji Q)

e s JedHL S tcew/éo/’u{.,tzé‘édtyq@u% 3)

g
Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
Example: How many Salah are obligatory for Muslims in a day? ?Q.?U"/.L[JU&;IJJ%UJW :dl‘;‘*
(A)Three of  (B)Fours  (C) Five &L (D) Six £

30 /f (_o;,myd"}/’) <45 ::};J(

Gl Dyt E s I JEE (28) U U b

Instructions: Twenty-five (25) Multiple Choice Questions (MCQs) are given in this paper. Each question carries two marks.

(C) improvement in financial condition <’ laué e & I‘Lt'lf:(uulul?l(d‘)glﬁ ST A
(D) earning respect in society < FUnc— /:'l:w 1. The feeling of one's being accountable on the
_‘arm«af L7 — .5 day of judgment keeps one away from:
5. is a state of heart. (A) trial = FT B) evil = Jis
(A) Piety §5 (B) Frugality $/b5es” (C) iliness /&
(C) Justice Jx (D) Kindness ¢L- (D) unemployment cgj/lfjué__
e L e 6 A s B G 2
6. Doing everything on time is also a shape of: 2. The venue where Hajj pilgrims put on Ihram
(A) kindness d/ul,?! (B) tolerance Jd/mu (Hajj dress), is called:
(C) piety S (D) justice SUx (A) Muzdalifah (B) Arafaat =/
SEELE 7 (C) Megat =i (D) Mina &
7. The literal meaning of term "Tableegh" is to: A :,/’"Kﬁ,vuﬁ&‘»y&ﬁ?ﬁ&v&du&&}l 3
(A) be steadfast Lij-dt (B) struggle L/ I e e
(C) bear t/=ls (D) convey b % 3. Infront of Aqra bin Habis, Rasoolullah (%_bdid”
:g/:,flbl,(‘ékj]kd,g .8 (LZI,L#I;,‘JT showed his love for Hazrat Hasan <%
8. The wife must obey her: 2#J7 in a way that:
(A) son S (B) brother §Jus (4) fed him Wiy
(©) husband st () daughter S (B) made him sit on his back LW/
e ird bl Seie e S L TS 9 (C) kissed him (o4 (D) played with him &Z#
9. Acc:)rding to the-HoI\} Qur'an, the most feared S o sl Ll eI 4
servants of Allah Almighty are: 4. Which main benefit will the Muslims get being
(A) scholars At (B) the rich Juti steadfast to Islam?
(C) the rulers :/}GJ” (A) rise in status in the hereafter (S d/o(guui' o4l
(D) people of remembrance (Ahl-e-Zikr) /}J! (B) gaining political influence vl L
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NAZRA QURAN AND RUBRICS
SCHOOL BASED ASSESSMENT 2021 GRADE 8
ISLAMIAT PART — B (Nazra Quran)
Total Marks:20
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b QAL 2 H LS e N e e i ey

A5

Wa/t?é.5;/‘.5L?,un)uﬂﬂééifugf;uﬁywugzw 1
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5 27412 Rubrics
T bl Qe Fe s B LIS e Ut G

~U:/(?%)/'.25¢'
S eertgi Qe LA L L 2
/',‘;3uf.'o/r’d/é.l:«,f./“uuu&]c&ﬂg’gﬂmuﬁdry 3

~U:/(?9)
Lol badecnfe 2ok 4
bl ok fy 5

:‘a;ya.‘Zm”xﬂuﬁ‘Q)lé,lﬁu’UL/ZJGJJ\.\! .10

10. In the saying of Allah Almighty "¢/ & /1 "
"L/ I"means:

(A) hate o}"' (B) animosity «sle

(C) coercion 2

e Wi S b G QWL UL 5 o1 e d s 11
11. According to the saying of Rasoolullah i
H?,L;‘b.ll‘f&,‘k, the person who helps the

(D) jealousy +>

widow is a:
(A) scholar /lp
(C) worshipper /!}Cwlf
(D) warrior in the way of Allah &&Jfr&,‘olf
e bW STyl LI L as 12

Doing utmost effort to achieve a goal is called:

(B) servant »b

12,
(A) steadfastness oG-
(B) piety S+
(C) jihad slz (D) justice Jx

P 22 o el s s T s S8 13

Y

13. Over the difficulties and hardships
encountered in the way of preaching Din,
Hazrat Isa ¢tk worked with:
(A) Patience cﬁ/ (B) Wisdom el
(C) Strictness LG; (D) Softness « (§/

et ISl 2 14

14. Name of Hazrat Fatima's W <i%. mother is:
(A) Hazrat Ayesha PPN EE e 2
(B) Hazrat Khadija BNz b
(C) Hazrat Zainab W’&Q&ku"ﬂgﬂdof}
(D) Hazrat Sawda Lﬁ"g'}@mu""mro/”?

2wl Lozt » .15
15. Hazrat Shah Waliullah k(5<i=z was born:

(A) in a wealthy family u.‘.'é.!/liwl,
(B) in a chief family u.‘.'é.!/lib/
(C) in a military family u.‘.'é.!/fdxci
(D) in a Learned family u.‘.'é.!/fdu
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SCHOOL BASED ASSESSMENT 2021 GRADE 8
ISLAMIAT PART - A (Objective Type)
Part-A: 30 Marks, Part-B (Nazra Quran): 20 Marks, Total: 50 Marks

School Name :

Tehsil: District:

Student Name: Section:

Roll Number: Date:
General Insutrction for Students: .:«Ll,gdféé.fu’
1) Use mask and keep 3 feet distance from each other. -&{PG(&S&IK’JU{:BI%JL @
2) Read carefully and attempt all questions. -u:/d’ .:«Ulfrl/"ﬁlw."{cji Q)

el %JJ@&Z@I Lcew/éo/’u{.,tzé‘édtyq@u% A3)

g
Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
Example: How many Salah are obligatory for Muslims in a day? ?Q.?U"/.L[JU&;IJJ%UJW :dl‘;‘*
(A)Three & (B)Foursl  (C) Five &L (D) Six £

30 4 (= Uirs%>) 245 S

Gl Dyt L s G (28) U U el

Instructions: Twenty-five (25) Multiple Choice Questions (MCQs) are given in this paper. Each question carries two marks.

S bl Te I dwntse e L gl =iy .5 el el T 1
5. Developing which trait makes it easy to avoid | 1- The meaning of belief in Hereafter is:
evil and adopt goodness? (A) Belief in Allah el
(B) Belief in Rasools ul,:’,'/? Uy

(A) frugality S/t (B) tolerance $otas

i3 (C) Belief in the heavenly books £l £l (kT
(C) piety (§# '

(D) Belief in the day of resurrection uw/?wéyy"

(D) steadfastness w(e| :‘au“au”/xuguﬁg,@;’{uu/uwuguz.wwdl P
:%t'/’/"w’”"é—/k)‘,‘f’uﬁél -6 | 2. A worship which is obligatory once in a life
6. The one, initiating in reconciliation, time for the Muslim who can afford it:
demonstrates: (A) Jihad stz (B) Zakat 557
(A) kindness £uL>! (B) nobility §=31,% (C) Saom »Js (D) Hajj &

WAL PSS M T bdid iy .3
3. Rasoolulah ¢ i )7 b 41 treated with the
slave, named Wahshi:

(A) forgiveness Y 4

(C) honesty KL Ls (D) justice ¥
e S Sl K 7
7. The other word used for "Tableegh" is:
(A) advice 5P (B) worship «s#

(B) justice and equity K5l e
(C) obedience =+UI (D) fear =’ (C) brotherhood K=#1 (D) moderation 6ol
el IR P B L = LS .8 e bbb ALK Tt Sl b 8 P00y 4

8. According to Islamic teachings, the guardian | 4. Enduring hardships for the sake of religion
(Deen)and supporting the truth shows one's:

of family system is declared:
(A) honesty Sl (B) tolerance SSbls

A) son J& B) brother s
*) - ®) C , (C) truthfulness /djg.yu
(C) husband sl (D) daughter /u:

(D) steadfastness P
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NAZRA QURAN AND RUBRICS
SCHOOL BASED ASSESSMENT 2021 GRADE 8
ISLAMIAT PART — B (Nazra Quran)

Total Marks:20
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k»¢_12:Rubrics

5 27412 Rubrics
T bl Qe Fe s B LIS e Ut G

~U:/(?%)/'.25¢'
S eertgi Qe LA L L 2
/',‘;3ui'o/ﬂd/é.l:«x]uuuyciﬂgg‘d'{tu'u,v,,“;dr‘” 3

~U:/(?9)
Lol badecnfe 2ok 4
bl ok fy 5

- driggdleds .9
9. Fear of Allah (Khashiat-e-Elahi) is developed by:

(A) promoting national unity LJ')L?'
(B) justice and equity e e
(C) adopting forgiveness <« s

(D) acquiring knowledge LH‘

e b 2L bt T L M) T e S e o 110
10. According to the hadith of Rasoolullah % &<

(Lil,tf‘l;,llf guiding a way to a blind person is:

(A) honesty $/bher|s (B) charity 34

(C) humility $,L£1 (D) tolerance $/hlss

:‘aﬁdz%tu«f b2 1L by 11

11. According to surah Balad , feeding that

relative is a great virtue:

(A) the one, who is poor n_/;/}?
(B)
(C) ~
(D) the one, who is an orphan nﬁ';;?
?‘gubfgga,é:fu/):f/ 12
12. Whom is prohibited to be called 'dead'?
(A) One who is martyred %i*

the one, who is a neighbor s (537 %

the one, who is a passenger s plas

(B) One who migrates }’/Zb/
(C) One who comes victorious in battle-field /d)l'p
(D) One who performs Hajj Gl

:‘ct‘nl&,iga,f}]p((wlgk&fof”’ .13
13. Life of Hazrat Isa (/b develops the passion of:
(A) sympathy 6.4 (B) competition (-
(C) winning §22 (D) defeat ¥z setf
by Ll Fe SAE PG 2 14
QA L A e )T
14. On demanding a maid by Hazrat Fatima <}l (%
U5, Rasoolullah ﬂ,vu,ﬁ&,}«h\d‘ granted

her:

(A) Wealth /s (B) maid &_{i
(C) Tasbihat-e- Fatima )G;Ai;j

(D) booty =

e L6 IO 15
15. The subject of the book "Al-Fawz Al-Kabeer" is:

s

(A) Jurisprudence

(B) Knowledge of Hadith &
(C) Usool-e-Tafseer Pl
(D) Principles of Society Sy Il
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SCHOOL BASED ASSESSMENT 2021
GRADE 8

GENERAL SCIENCE

School Name

Tehsil: District:

Student Name: Section:
Roll Number: Date:

Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

AN A AT (1) ea il L b
YISy e ()

-+ﬂ%utdcf&i5)§f wx@,;%_,mé‘wwm& 3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Covid-19 is caused by:

L% (b) fungi 0¢

(a) bacteria

(e)! virus U7

39,.316/19-51/ Je
(d) algae ‘ff

50 /J(

{5y

,.‘«7;1 2:55‘)(

?‘at‘/UJ/%Uer"LJfﬁ‘avu):ﬂ?uKJf 4
4. Identify the part of the cell which controls all the functions
of a cell.
(A) Nucleus gfi“/i’. (B) Chromosome (rf}/’/
(C) Centrioles uJ L& (D) Cell membrane Jid/,y
Setwp | 2t iy dlas byl 5
5. Which vitamin is produced by genetically modified
bacteria?
(A) Vitamin A J'ts (B) Vitamin B o/ ts
(C) Vitamin B12 ¢/"bs (D) Vitamin C /'t
:%}'L/U,%L,jlufﬁéjhéﬁ‘g ............ U:? 6
6.  Genes control our body functions by producing:
(A) sugars J/j"’
(C) lipids j 4/

(B) proteins /53{
(D) nucleic acid bb: 42/ 8
St CULCFCs T
7.  The source of CFCs (Chlorofluorocarbons) are:
(A) factories UL /';Q (B) hospitals JUk7
(C) car exhaust U e sk
(D) aerosol sprays < /| Jr}{!
8. Corrosion of metal is caused by: ?‘é(‘(’:?’(;iué)/@lﬂ) 8
(A) deforestation 3 PSS (B) ozone depletion uf d/u}/‘;!
(C) acid rain J’/QQ' )3 (D) global warming u@/’}(j}g
?ugLn(‘f'IL o Tz’fui‘dggt/;éuun 9
9. How many oxygen atoms are there in every molecule of ozone?

(A) One { (B) Two 1
(C) Three uf (D) Four /k

Instructions: Twenty five (25) Multiple Choice Questions

(MCQs) are given in this paper. Each question carries 2

marks.

2L Ut s JEUE Q5 UF LS el
A

e e X e VA BiUIAS 1

Xe—
g

1. The diagram given below shows the human excretory
system. The part indicated by ‘X’ is:
(A) renal vein ¢f }u‘:’y (B) renal artery d/b/fu‘:"/
(C) wurethra ﬁ:/gf (D) wureter zy
“‘aﬁ@f 4130 (/c))/a . J. Soukr 2
2. Which of the following is NOT a part of forebrain?
(B) Cerebellum (V“/

(D) Hypothalamus 1%/ !

K4

S BT

(A) Cerebrum (z
(C) Thalamus U JJ;,;

3. Reflex action is an example of:
(A) Delayed and involuntary response J{/dﬂ/!/;;/;!d/é t
(B) Delayed and voluntary response J{/dﬂ/wdj’ ¢
(C) Immediate and involuntary response J{/d)!ﬂ/;;/}!d/;’

(D) Immediate and voluntary response J’Zdﬂ/wd/}
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18.

19.

2y gL e 18
All are sources of heat EXCEPT:
(A) food S5 B) wood §4
(C) petrol Js % (D) glass J1§
G SES Il g # 19
Identify the effect of heat on solid:
(B) Evaporation /.:"Uj
(D) Boiling Ckf

(A) Expansion tkg
(C) Condensation j Jj

Y Bt etz bl ESt b UL EASSTE 20

20.

21.

22.

23.

24.

25.

L

Where an object should be placed in front of a convex lens

so that a real and inverted image of same size is obtained?

(A) atF 4F (B) at2F 42F
(C) between F & 2F U F2F
(D) Beyond 2F e 2F

S LB SHAT 21

What is the purpose of using convex lens?

(A) To see magnified object size 454/’/"’// 6 1z ()
(B) To reduce object size 45;/@%’/ z !5(2‘
(C) To diverge the image of object 45; U;;”’.f/ 6 !5(2‘
(D) To measure size of object écf,u”j [A d/()

What is bicycle dynamo?
(A) Electric bell (%32
(C) Small generator %2t (D) Small cell JZt%

S IS T bl e bt S snier 23

Which of the following is an input device used in

e bl L 22

(B) Electric motor /(s

computer?

(A) Monitor 4\

(C) Mouse U3l (D) Loudspeaker £33
St eI £ 2T Bl AUy sl ViS50 24

‘Which one of the following is the mean of transportation of

(B) Printer £

space station?
(A) Space Rocket /1, U=% (B) Space shuttle f B it
(C) Rocket Launching pads /,35._,@ v,
(D) Spacecraft I

ISR LT 25
How many main types of spacecraft are?
(A) One ..g
(C) Three 54

(B) Two 2
(D) Four Jk

10.

11.

12.

13.

14.

15.

16.

17.

e P HS P 10

Photosynthesis belongs to which reaction?

(A) Physical reaction u:‘{ 'd/u’fb

(B) Chemical reaction u—“{ !d/&g{/
(C) Neutralization reaction u—“{ IS AN
(D) Exothermic reaction u»“{ ISk, /3,{ I

S byl ZL b tin 11
‘What does the burning of carbon in air form?

(A) Carbon monoxide and hydrogen ¢/s,47\ 315\ Tove 6

(B) Carbon dioxide SIS
(C) Carbon dioxide and water Q3L ¥1STderl
(D) Carbon monoxide and water &_&u'fe’l,f@/@/l(

:‘gt‘ndb"’luﬁé_m}lﬂr?fklvu/a_gfj@ﬂ 12
Which of the following acid is used to make Aqua Regia?
(A) Hydrochloric acid M'J}g}/fﬂ
(B) Sulfuric acid S S
(C) Phosphoric acid 4% ? (D) Citric acid 421
S b L& Sl a3
What is used for purification of water?
(A) Potash alum (&'u’ by (B) Copper sulphate &:‘J‘”{/
(C) Potassium nitrate &z ~l (f.: by
(D) Potassium sulphate &;‘J‘”ff by
Spray gun uses: ?‘at‘ndb"’ll{ufdc_g 14
(A) Compressed air /342 /.-.‘/
(B) Compressed liquid éU’A /.-.‘/
(C) Compressed solid U /.-.‘/
(D) Compressed water /ls 4 /.-.‘/
sl bl 2y a5
Identify the formula of Pressure (P).
(A) P=F/A (B) P=A/F
(C) P=FxA (D) P=F+A
et/ e 2 B a6
To which direction the pressure acts on a surface?
(A) Vertical ($2+¥ (B) Horizontal (:f’ i
(C) Parallel $J/# (D) Coplanar 5(7
Se Yertamn - boWepd Lo G 17
Meter is used to measure length. What is the correct
symbol of millimeter?
(A) mM (B) Mm

(C) mm (D) MM
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SCHOOL BASED ASSESSMENT 2021

GRADE 8
GENERAL SCIENCE

School Name

Tehsil: District:

Student Name: Section:

Roll Number: Date:
Use mask and keep 3 feet distance from each other. -&{.Lﬂlsl{.*):Bﬂi{ui‘gﬂl’mﬂ.ﬂ (1):&5’4'6}}“&&#
Read carefully and attempt all questions. -Q/’U’awr(ﬁuiuf’zc/f Q)

-+ﬂ%utdcf&i5)§f wx@,;%_,mé‘wwm& A3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Covid-19 is caused by: :9,;:(!19-5:)/ :dlf’-‘
(a) bacteria |25 (b) fungi JG" (©)) virus U71s (d) algae ‘ff

50 4 e@aulfd’ﬁ/"% epe g

?‘é(z’:"} VAUf{"j &5} 4 | Instructions: Twenty five (25) Multiple Choice Questions

"

;a (MCQs) are given in this paper. Each question carries 2

marks.

~u A2l v L s I BEUE 25) U U el
4. Identify the structure A of the following diagram. : .

(A) Chromatids iy (B) Nucleus gff“/i’. :4'%)/&"‘; Jf“‘jYL’( 2N
(C) Centromere /3% (D) Chromosomes (rn/’/ \\ Y ) _
S L GG S S ipsr 5 NE‘?"(‘: T
5. Which of the following is biotechnological product? LTk
(A) Quinine u:/ (B) Opium Pé’ 1. Identify the labelled part ‘Y’ in the figure:
(©) Fat dZ (D) Vaccine Wg’ (A) Dendrites uj'u".z;:" (B) Axons u,{ f

VA (C) Cell body S
6. The function of gene is production of:

(D) Terminal ends of axons <« /dj ‘;Z_u,{ I

(A) sugar L'L'/./i"’ (B) protein L’L'/.uff;/
: 2.  Identify the voluntary action. _u/‘ﬁ;eﬁ‘!fd;m 2
(C) lipids bk (D) nucleic acid bb: 42/ 8 o -
S S LIS SV T b Y5 7 (A) Breathing U
7.  Which of the following is the reason of increase in carbon (B) Reading book U”%-«Cf
dioxide in air? (C) Eye blinking t&ZF7
(A) Evaporation /f Uj (B) Transpiration &f"// .EHU (D) Blood circulating A J)f (10k3
(C) Deforestation 3¢’ ¥=1£2 (D) Degradation ﬁ,ﬁ/ﬁd 3 - S -‘”UJ U"’?f"’” e r‘—-’w 2J /iv 3
?%VU):.’.’”’KU"%‘* &?’JU’J’&CFCS 813, Identify the two main components of the central nervous
8.  What is the source of CFCs which cause ozone depletion? system.
(A) Factories UL}Q (B) Hospitals JUi7 (A) Brain and heart J}u'éb (B) Brain and liver /.é/;'ét)
(C) Cars /¥ (C) Brain and kidney s 545
(D) aerosol sprays < Jr}{! (D) Brain and spinal cord :"//g_f{ l://}!éb

| Grade-8, Science Paper-B, SBA | E'




L WL SS9
19. Solids expand on heating because their particles:

(A) speedup Jr bz (B) slow down (f & bsre

(C) become larger in size Ut sk
(D) increase in number S o ol

d/»d}'ﬂélKJl?yr:ﬁ/{(‘aXQJ}FUL{»:)FL}.{J{}([?J)/% 20
‘gfh.:)’
20. When the object is at F (where F is the focal length) of a

convex lens, the image is formed on the other side of the

lens:

(A) atF 4F (B) at2F 42F
(C) between F & 2F Ul F2F
(D) at infinity 4 &by

e L e Stioe 21
\ W
|II' 1] |_I| f [
...

}l‘l | '= || .II I".

21. Which of the following is plano-concave lens?
(A) W ®B) X
© Y D) Z
:‘g&dl;é.nl,g;é/gWg;}é{.ﬁl&jlﬁfg 22
22. The power generated by using burning coal as a source of
energy is:
(A) thermal J/; (B) solar A
(C) wind ks (D) nuclear %
te LIV KZ./UW@}’L{_AL&;;&U:L/%& 23

23. What is the disadvantage of using wind as a source of
energy to generate electricity?

S
Caelag Wi
(C) releases harmful radiations bl bUf eS| (g

L',ef}mp

(A) shifting of people

(B) causes air pollution

(D) covers large areas

St St R I e ST 24
24. The tool which is NOT used in space exploration is:
(A) Rocket S (B) Telescope _:}J'/‘Jf
(C) Microscope _“AJ'/‘}/? b
(D) Telecommunication system (b’/ u%““c}:(df
b/ 25

25. Telescope was invented in the year:
(A) 1510 (B)
© (D) 1810

1610
1710

10.

11.

12.

13.

14.

15.

16.

17.

18.

?‘ga Lj.{.u Lﬁ"):; JUJ]J’/:Z U U)/a_ o J. Soukr 9

Which of the following damages ozone layer?

(A) Oxygen o T
(C) Sodium silicate <" s

(B) Mercury d/’}

(D) Chlorofluorocarbons f’./l{u}gu:g
?‘aujl?.:«l;l/(jg{du)/a_ufd}gﬂ 10
‘Which of the following is a balanced chemical equation?
B) Na+2Cl, — 2NaCl
(D) 2Na+Cl, — 2NaCl
:‘aﬁdaég{;uﬁ;w 11
‘Which of the following is NOT a chemical reaction?
(A) Burning ¥ (B) Respiration l/JJJ -
(C) Photosynthesis /f??”; (D) Freezing (7,
QN SN AL SIS 12
Metals react with acid to form salt and:
(A) Oxygen gas WZ{? (B) Nitrogen gas ﬂ//‘f} /"/L'
(C) Hydrogen gas ﬂ//‘f'uig
(D) Carbon dioxide J’gu’r’ét

(A) Na+Cl, — ZNaCl

2Na + Cl, = 2NaCl,

(©)

914
:‘ad’w.:,wjvéu%xﬂn 13
Product of the reaction between alkalis and fats is:
(A) Soap cile (B) Sugar J#
(C) Salt 2L (D) Acid 42
An aerosol is a mixture of: ‘e Zf ugdn{l 14
(A) Two solids §Us (B) Two gels 6742
(C) Two gases EUsn (D) Two fluids 6744k
Se el FNZ By Uil 15
One atmosphere pressure is equal to how many Pascals?
(A) 101,600 Pa (B) 101,500 Pa
(C) 101,300 Pa (D) 101,400 Pa
St Al Uy bde St 3ok 16
Which of the following works for inflation of automobile
tyres?
(A) Hydraulics JU/!/},?E (B) Pneumatics J%:
(C) Thermodynamics J(l// !ﬁf/;
(D) Thermostatic u@f/;
:‘géwé;{a_qa_ufgfj,yﬂ 17
The smallest among the following is:
(A) 8mm (B) 8cm
(€) 8m (D) 8km
RPN YL Y-S/ T
What is the main reason for thermal expansion in solids?

(A) Light 5o (B) Pressure 2/

(C) Force =7 (D) Heat <17
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Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

WU FL Oy Ui

Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

Example: The number of subsets of the set {0} is:
(a) 1 (b) 2 (©)3 (d) 4

50 .4 = U )P 21

J0.49 = 5! Instructions: Twenty five (25) Multiple Choice Questions

5. +/0.49 - (MCQs) are given in this paper. Each question carries 2
(A) 7 (B) 0.7 (C) 0.07 (D) 0.007 marks.

:‘L.r’dbig(4096 6] 28 Uvrour st JEUE Q5 UF LS el

6. The cube root of 4096 is: -uj‘/f;
(A) 16  (B) 32 C) 48 (D) 64
e b &S 7S LS 30 7Y g,

7. By converting 30 into an equivalent number with
base 5, we get:

(A) (100), (B) (101), (©) (110), (D) (111),
(121}5 + {12}5 = 8

e erFK1,78) 1
A subset of {1,7,8 } is:

(A) {9y B 0y (© {6y D) {7}

‘e dre {20} 2
2. Power set of { 20 } is:
(A) {{¢}, {20}}
B) {{}, {20}}
(©) {{},20§
(D) {{0},{20}}

8. (121), +(12), =
A) (111), (B) (123); (C) (133); (D) (341);
(11), = (11), = 9
9. (11), = (11), =
(A) (1001}, (B) (1011}, (©) (110), (D) (111), 3.
400000 & u’gfl-‘a & 1,450000 720§ 58 10

fe g t/.-fw L S J.’. Sounr 3

Which one of the following is an irrational

; number?
!‘L “H/’KU’ 'LgVLMS/Md’—U (A) \.'Ié (B) \."E_;.l (C) \."III-EI (D) \.'149
10. The annual income of Saqib is Rs. 450000.If Rs. .
, e BrE32 4

400000 is exempted from tax, then the amount of ¢

income tax at the rate of 5% is: Square of 32 is:

(A) Rs.2500 &/ (B) Rs.4500 &/ (A) 16 (B) o4

(C) Rs.5000 &/ (D) Rs.25000 & s (C) 1024 (D) 1025
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(2x

¥ =19
19. (2x-y) =
(A) 4x' —dxy +y° (B) ' —2xy+y’
(C) I S (D) vl 4 day + y
Z‘Lt‘ﬂg)’loc_é_/@w("y"uﬁy =6.Ix +y=8=bls .20
20. After eliminating “y” from the equations x +y =8
andy =6, we get
(A) x=12

(C) x=2

(B) x=14
(D) x=-2

K

g g ES 21

21. In the given parallelogram, the value of “ x” is:

-2 . R
pl (
(B) 136° (C) 180° (D) 224°
:‘aagg,(xuﬁw,::lﬂlzfﬁ'fd; 22

(A) 44°

22. In the given right angled triangle, the value of x is:

(A) 6cm (B) 8cm

:‘g(uﬁ(‘d/)@%’f&}é&d; 23

23. The curved surface area of the

(C©) 10cm (D) 14cm

given figure (in cm") is: >

-

(A) 9t (B) 12 (C) 151 (D) 24n
Sin30° = .24
24. Sin30° =
| 2 3
WE ®F ©F O;

:‘auuév?ms‘s‘s‘17‘5;lﬂJu{ui'uj|;@u;5)7 25
25. If the number of cups in 5 Kkitchens are 15,5, 8, 17,
5 then the mode of the data is:

(A) 4 B) 5 (©) 10 (D) 40

Je3s U 216000 5118 AUt 2s20000 L LI 11
144#‘.?0&'3’.(& I-Ls
11. Ali bought a mobile for Rs. 20000 and sold it for
Rs. 16000. His loss percentage is:
(A) 10%  (B) 12%

(C) 14% (D) 16%

(1S3 38960814 St s/ 8000L1L_ 6 12
e il
12. Aamir bought a cycle for Rs. 8000 and sold it for
Rs. 8960, his percentage profit is:
(A) 6% (B) 8% ©) 12% (D) 16%
‘g;w"’.&:«lﬁr‘ Sxy! =y +y ff(?/}.’( 13

13. The number of variables in polynomial,

IV -y V-7 s
(A) 2 (B) 3 (€ 4 (D) 5
(" + =2 (" +2x=5)= 14
14. (2" +10x - 2)— (72" + 20x - §) =
(A) -8x" -10x-7 (B) Bx" —10x-7
(C) =6x" =10x+3 (D) 6" - v -3

e §AS 13 +5x - 130 -5 15
15. Factorization of 13x = 5r—13x -5 is:
(A) (x—1)(13x+5) (B) (x+1)(13x-5)
(C) (—1)( 13x-5) (D) (x+1)(13x+5)
‘Ldf(! vy +x+2a° 16
16. Factorization of —7x' v + 1+ 2u” jg:
(A) —xy(7Tx—1-2y) (B) xy(7x—1+2y)
(D) xy(7x—1-2y)

e ed --1_'_--?~ i =-11fi 17

(©) =xy(7Tx—1+2y)

| " 1
17. If ¥~ = =l1 then the value of ¥ - st
(A) 119 (B) 121  (C) 123 (D) 132
¢ =256y = .18
18. v = 256ye =

(A) (x—16y)(x — 16y)
(O) (x+ 16y)(x + 16y)

(B) (x—16y)(x + 16y)
(D) (16y—x)(x + 16y)
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Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

AN A AT (1) ea L b
YISy e ()

-+ﬂ%utdcf&i5)§f wx@,;%_,mé‘wwm& 3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: The number of subsets of the set {0} is:

WU FL Oy Ui

(a) 1 (b) 2 (c)3 (d) 4
50 /J( %gmy&/’% ,.*Jf1 ::J;f
6. The cube root of 125 is: :‘a.,’ﬂujg(lzs .6 ! Instructions: Twenty five (25) Multiple Choice Questions
(A) 5 (B) 6 < 7 (D) 8 (MCQs) are given in this paper. Each question carries 2
(203)., = 7 ] marks.
7. (203), = 2L Ut L s I QEUE Q5 UF LS el
(A) 50 (B) 53 (C) 59 (D) 70 U
(74),+ (24);= 8 34&6’?{{2 b} 1
8. (74),+ (24),= . ‘
1. A subset of {2, b} is:
(A) (102), (B) (110), (C) (120), (D) (122),
B (A) {2} B) {{b}} (©) {2} D) ({b})
(13). x(10). = 9 i
OLINCT Y 21 2
9. (13), =x(10), = e {21}
(A) (103]5 (B) (113]5 (C) (13{]]5 (D) (131]5 2. Power set 0f{21 } 1S:

5%-949.»400000.:,e,’uﬁu’g,le;usoooodﬂ;ytJ E .10

:‘gﬁJJgﬁ;UVLU’ILZ/;‘J
10. Monthly income of Sana is Rs 50000 and rebate in
tax is Rs. 400000. Her annual income tax at the

rate of 5% is:
(A) Rs.8500 &/
(C) Rs.9500 &/

(B) Rs. 9000 &1
(D) Rs.10000 &

w33/ 360000.s1l FUtL 380000 b L1225 11

‘Lﬂ‘ﬁ UL LL;/
11. Nadeem bought a laptop for Rs. 80000 and sold it
for Rs. 60000. His loss percentage is:

(A) 10%  (B) 20% (C) 25% (D) 90%

(A) g}, {21}
© 521

B) {1}, {21}
(D) {{0},{21}}
?‘LJb twl/u)/c,uﬁd Sounr 3

3. Which one of the following is a rational number?

(A) Y100 (B) Ja6 (C) V49 (D) 450
e G617 4
4. Square of 17 is:
(A) 19 (B) 34 (C) 149 (D) 289

‘e OAiK1.69 5
5. The square root of 1.69 is:

(A) 1.3 (B) 2.6 (C) 13 (D) 26
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J’lo;é./ﬁlfi/"y";uﬁy =-3unlx +y=12=bls .20
ety

20. After eliminating “y” from the equation x +y =12

andy =-3, we get:

(A) x=-9 (B) x=-15

<€) x=9 (D) x=15

il e e ES 21

" [
I ™ 1

B ik

21. In the given parallelogram, the value of “ x” is:

(A) 75°  (B) 105°

B
\.

:+JU3'J xnﬂw,,lﬂl:/b“fd; 22

(C) 180° (D) 285°

22. In the given parallelogram, the value of “ x” is:
b

A) 3 ®B) 4 ©) 9 D) 16
U1 SE T 6L s 255 68k S FLN 23
:(x(% 4

23. If height of a cone is 6 cm and
radius of its base is 7 cm, then its
volume will be

(A) 4dem (B) 264cm (C) 38em (D) 924cm

sin45° + cos45° = .24
24. sind5° + cos45° =
(A) 2 (B) \l— ©) 3 O :L
sly_ 13, 12, 14, 12, 15, 12, 13, 1405090 A5P8 25
e gl

25. The ages of 8 students in years are 13, 12, 14, 12,
15,12, 13, 14. The median of the data is:

(A) 8 (B) 12 (C) 13 (D) 15

&;}¢4;,11300001,164}¢4;,1125000’;(42,("1 12
A
12. Aslam bought a cow for Rs. 125000 and sold it for

Rs. 130000. His percentage profit is:

(A) 0.04 (B) 3.85 ©) 4 (D) 8
e o Y *&ﬁ/%( 13
13. The degree of polynomial, 2yt +y S g
(A) 2 B) 3 ©) 4 (D) 5
(T2 =22+ -3 +x+4) = .14
14. (72 =2x+5) -3 +Ix + 4) =
(A) 4x° —5x+9 (B) 4x +x+9
(C) 4x" =5x+1 (D) 4x' +2x+1

e $AS 9 H =911 15
¢

15. Factorization of ¥+ +1lx —=9x 11 js;

(A) (-1)(9x+11) (B) (x+1)(9x—11)

(C) (-1)9x—11) (D)  (x+1)(Ox+11)

16. Factorization of ~3x'v +4xy + v jg;

(A) —xy(3x—4-y)
(C€) xy(Bx—4+y)

(B) xy(3x—4+y)
(D) xy(3x—4-y)

e ed ‘_'_- Ju+ i =20 /i 17

| i |
17. If ©7 -7 20 then the value of * s
(A) 389 (B) 398  (C) 400 (D) 402
Dy =225 = 18
18. 9x" —225=

(A) BGx—15)(3x—15)  (B) (Bx—15)(3x+ 15)

(C) BGx+15)(3x+15) (D) (15— 3x)(3x+ 15)

fa+2bY = 19
19, fa+2h) =
(A) a® —db’ (B) a® +dab+4b’
(C) a” +4dab—4b° (D) a® —dab+4b°
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School Name (EMIS code ):

Tehsil: District:
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General Instructions:

1) Use mask & keep at least 3 ft. distance from each other.

2) Read carefully and attempt all questions.

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example

given below.
Iam

(a) does

my homework.
(b) do

(C,'l doing

(d) did

(4) If more than one options are encircled in a qliéstion, no mark will be given.

Total Time: 1 Hour

(Multiple Choice Questions)

Total Marks: 50

Q.No.1. “Your teacher has helped you in your
problems”. Identify the expression of gratitude.
(a) You have done a great job.
(b) I am grateful for this favour.
(c) You met a wonderful person.
(d) I was not expecting this from you.
Q.No.2. Identify the pair of nouns which has the same
singular and plural form.
(a) Deer, Sheep (b) Lion, Women
(c) Men, Teeth (d) School, College
Q.No.3. How many syllables the word “Helicopter”

has?
(a) Two (b) Three
(c) Four (d) Five
Q.No.3. How many syllables the word “Silver” has?
(a) Three (b) Four
(c) Two (d) Five

Q.No.4. Identify the group of collective nouns.
(b) Spoon, Crowd

(d) Mouse, Panel

(a) Class, Army

(c) Herd, Paper
Q.No.5. Which of the following is an abstract noun?

(a) Bird (b) Love

(c) Sugar (d) Head
Q.No.6. Rubab is so friendly.

friends with her.

can make
(a) Something (b) Anything

(c) Anyone (d) Someone

Q.No.7. The adjective of the word “Act” is:
(a) action (b) active
(c) actively (d) activity
Q.No.8. "A family is like a circle,
The connection never ends,
And even if at it breaks,
In time it always mends.”
The simile used in the above stanza is:
(a) A family is like a circle
(b) The connection never ends
(c) And even if at it breaks
(d) In time it always mends
Q.No.9. "My car broke down on the way to office.” The
underlined word is:
(a) proverb (b) phrasal verb
(c) metaphor (d) preposition

Q.No.10. The synonym of the word “fundamental” is:

(a) party (b) basic
(c) answer (d) welcome
Q.No.11.“A __ of people gathered in the
stadium.”
(a) bunch (b) team
(c) flock (d) crowd

Q.No.12. Identify the group of adverb of place.
(b) Inside, Nearby
(d) Slowly, Down

(a) Actively, Forever
(c) Upwards, Often

|Grade-8, English Paper-A, SBA |
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Q.No.13. Identify the sentence with past perfect tense.
(a) He waters the plants in his lawn.
(b) He watered the plants in his lawn.
(c) He had watered the plants in his lawn.
(d) He is watering the plants in his lawn.

Q.No.14. "1t is raining heavily. We ___ go
outside.”
(a) have not (b) are not
(c) should not

Q.No.15. "Amina’s brother

(a) has not

(d) were not
reached yet.”

(b) are not

(d) should not

Q.No.16. Identify the type of the sentence. “Alas! We
could not take care of our father.”

(c) were not

(a) Declarative (b) Exclamatory
(c) Interrogative

Q.No.17. "They have been planting trees

(d) Imperative

many days.”

(a) until (b) for
(c) since (d) from

Q.No.18. Choose the sentence with correct use of
“article”.

(a) Someone is knocking at the door.

(b) He is riding an new motor bike.

(c) There is any desk in classroom.

(d) She is reading a interesting book.
Q.No.19. "I have lived in China ______ten years.”
(b) for
(d) from
Q.No.20. The antonym of the word “disappear” is:
(b) fade
(d) come in

(a) until
(c) since

(a) enters
(c) reappear

< Paragraph: Read the following paragraph and answer
the questions given below.

Bicycle is an interesting ride. The first bicycle was
developed about many hundred years ago. Early bicycles did
not look like today’s bikes. It was made of wood. People rode
by pushing their feet along on the ground. Later, a bicycle that
had pedals and metal tires was invented. It was not
comfortable. It was called the boneshaker. Inventors kept
working to make bicycles more comfortable. Next, the high
wheeler was developed. It had a very big wheel in the front.
This bicycle was not easy to ride because the rider sat high
up on the bike. The rider could be badly hurt in a fall. Then
two wheels that were of same size were used. Those bikes
looked more like bicycles today. Later, rubber tires filled with

air were used. That was a solution to the problem of a bumpy
ride. The new tires made riding smoother. Today, children’s
bicycles and racing bikes are popular. People ride bikes to get
exercise. Bicycling is safer, too. Now people wear helmets
and bikes have reflectors on them.
Q.No.21. What type of bicycle was first developed?
(a) The bicycle with one wheel
(b) The first bicycle was without pedals
(c) The bicycle with rubber tires
(d) The high wheel bicycle
Q.No.22. Early bicycles were very different from
today’s bicycles. Which line from the text supports
this idea?
(a) The new tires made riding smoother.
(b) The first bicycle was developed more than two
hundred years ago.
(c) People today ride bicycles to do exercise and wear
helmets as they ride.
(d) The hobby horse was made of wood and people rode
it by pushing their feet on the ground.
Q.No.23. “"The bicycle with pedals and metal tires was
called the boneshaker.”
What can you infer about the bicycle based on this
name?
(a) It was bumpy, shaky and not comfortable to ride.
(b) It was smooth to ride but the seat made people’s
bones hurt.
(c) People liked riding this bicycle more than earlier
bicycles.
(d) People wanted to make it comfortable with rubber
tires.
Q.No.24. What is the main idea of the paragraph?
(a) The first bicycle was developed about many hundred
years ago.
(b) Bicycles have become better in many ways since
they were first developed.
(c) Rubber tires are very important to bicycles today
because they make riding smoother.
(d) Today, we use the same bicycles as developed more
than two hundred years ago.
Q.No.25. The suitable title for the paragraph is:
(a) Wind Speeds of Hurricanes
(b) Hurricane Katrina
(c) Why Hurricanes Weaken
(d) The Basics About Hurricanes

Grade-8, English Paper-A, SBA
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GRADE 8 English

School Name (EMIS code ):

Tehsil: District:
Student Name: Section:
Roll Number : Date:

General Instructions:

1) Use mask & keep at least 3 ft. distance from each other.

2) Read carefully and attempt all questions.

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example

given below.
Iam

(a) does

my homework.
(b) do

(C,'l doing

(d) did

(4) If more than one options are encircled in a qliéstion, no mark will be given.

Total Time: 1 Hour

(Multiple Choice Questions)

Total Marks: 50

1. Which of the following shows expression of
gratitude?
(a) He helped the poor with money.
(b) Would you please repeat your sentence?
(c) I am thankful to you for saving me from danger.
(d) Let's play cricket together.

Q.No.2. The word having the same singular and plural
form of noun is:
(a) window (b) woman

(c) flower (d) species

n

Q.No.3. How many syllables the word “Importance

has?
(a) Two (b) Three
(c) Four (d) Five

Q.No.4. "The players are playing for victory of the

team.” Select a collective noun.

(a) Players (b) Team

(c) Victory (d) Working
Q.No.5. Identify the abstract noun.

(a) Patient (b) Calendar

(c) Patience (d) Author

Q.No.6. This game is so easy. can play it.

(a) Something (b) Anything

(c) Anyone (d) Someone

Q.No.7. The adjective of word “Create” is:

(a) creator (b) created
(c) creation (d) creative
Q.No.8. "How good to lie a little while

And look up through the tree!

The sky is like a kind big smile

Bent sweetly over me.”

The simile used in the above stanza is:

(a) how good to lie (b) sky is like a smile
(c) look up through. (d) bent sweetly over
Q.No.9. “I bought some flowers to cheer up my

friend.” The underlined word is:

(a) simile (b) phrasal verb
(c) proverb (d) metaphor
Q.No.10. "I wanted to forgive the thief and my friend

also advised me to him.

Use the synonym of forgive in the blank.

(a) leave (b) let
(c) punish (d) pardon
Q.No.11. "I was excited to see a of stars.”
(a) bunch (b) crowd
(c) group (d) galaxy

Q.No.12. The group of adverb of place is:
(a) bravely, never (b) here, nearby

(c) backward, frequently (d) honestly, above
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Q.No.13. Identify the sentence with past perfect tense.
(a) She washed her clothes yesterday.
(b) He is completing his homework.
(c) We have visited zoo several times.
(d) I had never seen such a nice picture.
Q.No.14. “You ____ waste any more time.”

(a) does not (b) were not

(c) should not (d) is not
Q.No.15. “Have they their work?”
(a) finish (b) finished
(c) finishes (d) finishing

Q.No.16. Identify the type of the sentence. "What a
great man he is!”
(a) Declarative (b) Exclamatory

(c) Interrogative (d) Imperative

Q.No.17. "British soldiers brought hockey__
the subcontinent.”
(a) to (b) off

(d) at

Q.No.18. Choose the sentence with correct use of

(c)on

article.
(a) You are the loyal to the nation.
(b) The Ali is the fittest of his friends.
(c) He is an man who won.
(d) The prize was given to the winner.
Q.No.19. "My sister loves coins. She has been
collecting unique coins three years.”
(a) until (b) for
(c) since (d) from
Q.No.20. "Little kids are safe at home but they are
outside.”
Use the antonym of safe in the blank.
(b) all right
(d) at risk
< Paragraph: Read the following paragraph and answer
the questions given below.

(a) guarded

(c) secure

Many people are scared of honeybee’s stings. But
honeybees are not scary pests. In fact, they are actually very
important insects. You may have seen it by some flowers.

Honey bees go from flower to flower. They collect nectar and

pollen from the flowers for food. They can use this to make
honey to eat. This is the honey that people eat too. But
honeybees aren’t just important because of the honey they
make. They are important because of how they help plants.
When they go from flower to flower, they move the pollen
from flower to flower, too. This is called pollination. This is
how lets plants grow new seeds. Those new seeds can grow
into new plants. So without honeybees, a lot of plants couldn’t
exist. Apples, nuts and berries are just some of the plants that
need honeybees to help them make new seeds. Many people
are worried because a lot of honeybees have been dying.
Some people think the chemicals used on farms may be
hurting them. Honeybees are also being hurt by diseases that
we don’t understand well yet. But people are working to find
ways to save the bees.

Q.No.21 What do honeybees make that people eat?

(b) Pollen

(d) Seeds

Q.No.22. What does moving pollen do for plants?

(a) Nectar

(c) Honey

(a) It helps plants in making honey.

(b) It helps plants in growing new seeds.
(c) It helps plants in stopping chemicals.
(d) It helps plants in producing more nectar.

Q.No.23. What can you infer from these sentences?
“But honeybees aren’t just important because of
the honey they make. They're important because
of how they help plants.”

(a) Honeybees are not very important.

(b) Honey bees are important to plants only.

(c) Honeybees are important to people and plants.

(d) Honeybees are important to plants but not to people.

Q.No.24. Because of the Coriolis effect, winds from a
hurricane...

(a) move in one direction.

(b) move in different directions depending on the season.

(c) move in different directions depending on the
hemisphere.

(d) are very powerful.

Q.No.25. What does the word “developed” mean?

(a) Created (b)
(c) Broken (d)

Found

Apart

Grade-8, English Paper-B, SBA
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Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

AN A AT (1) ea L b
G e U iy e ()

-+@uﬁutdcfﬁ5)§f Lcew/éo/’u{.,tzé‘édtyq@u% A3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

-ugéfu:afj”;u)fuéupuéuf{_;y},fy@t(uf/v_g%&n;ﬁ,mJ’%u/ :J&

Example: Which error occurs when the instructions written in a program do not follow the rules of the programming language?

e y
Al Syntax Error./!¥=" (B) Logical Error/“/ig_)%u (C) Run-Time Error/I#fty. 3

(D) Execution Error /"/'uﬁ:g/'?'

50 /J(

wv@@*m

f ,."7;1 I::’}J(

10.

L LE S sz nZ SIS IFIE G 6

gt

To scan a computer using AVG Antivirus, we have
to click:

(A) Whole computer scan £/ U:C U"{%,{f'[
(B) Scan specific files or folders £./¢ u’foC WA UK A
(C) Anti-Root kit scan 51t ea
(D) Scan Drives £ u’.'.C/,j 3
RPN — S U})Kuf/’:ﬁu‘«"‘/éﬂ/, 7
In spreadsheet software, the columns are

represented by:
(A) Numbers slsl
(C) Alphabets 3.7

(B) Symbols bk

(D) Pictures {}Lﬁ
Y (,»,gbf,%?;;g 0 .8
Worksheet tab contains the of the worksheet
on it.
(A) name
(C) folder .47

(B) data (3

(D) Command yiie
3‘¢blk(3‘ylﬁufufbfﬂ 9

Single page in workbook is called:

(A) Worksheet 25 0s (B) Workbook —f s

(C) File J’/G (D) Document a1

IS 10

Choose the correct example of formula.

(A) =Al+Bl (B) =SUM: (B5:B9)

(C) MIN=(B5::B9) (D) =MAX ((B5:B9))

g

_‘ét‘m}?y{,md,g ............ J,*;;{J,g 1
A Computer network consists of __
components.
(A) three of (B) four sk (C) five &L (D) six &
_ung_‘/.,:u;LL&fu’fl/‘- ----------- Wb sy .2
Networks are connected by wired or

(B) cable %

(D) wireless Jf}/’b

transmission media.
(A) physical .7
(©) digital F

o et NS g s LSz Stz st Sirars” 3

-tk
A computer in a network that relies on server for
resources is called
(A) server s, (B) client 2518
(C) macro computer /‘Lgﬁ.g/g‘ (D) micro computer /‘":V..f}/? l
e JOENLS o Siery I AL 4

Cable television network in a city is a good

example of
(A) LAN (B) MAN (C) WAN (D) PAN
_%w.:’c,d’. ........... 7 Fleblmaigdt .5

Unwanted banners, pop-up message are the
example of
(A) Worms s (B) Antivirus U#h (!
(C) Adware &34/

(D) Pirated Software s34 £

|Grade-8, Computer Paper-A, SBA|

[6-1]




?“‘at/d’ba%}dﬁ:b‘?féﬁfﬂb”:ufug‘f(guijZyJ; .19
19. In which of the following options, "The goal is to
get the desired result in a short and perfect
manner”?
(A) Problem Statement -*(: 4t
(B) Problem Solving A
(C) Flowchart é/g}g (D) Algorithm (Z’;Ji
uj/a—U:J‘.))JM;LL/&?UJJ)Lﬂ/j{‘U:uﬁJL/J’JQ .20
feJAfiL
20. In problem solving techniques, which one of the
following is a tool to describe the flow of the
program?
(A) Graph ot (B) Flow chart st
(C) Chart 2l (D) Algorithm 0
Jed Ll oo tdizg bbfew fikdLofe Ll 21
Sl
21. Which one is known as a set of rules and
regulations that computer programmer follows to
write computer programs?

(A) Syntax JQ“M

(C) Variables =/ &

(B) Data k3
(D) Constants -
A bl kete Sy 22
22, The individuals who perform the task of writing
the computer programs are:
(A) Designers J~1z} (B) Analyzers it
(C) Programmers /’/Uj{,
WALy o AP £ L3 Ut Gt 2650/ S GW-BASIC .23
?‘gandlﬁ/lééé_lé;
23. In GW-BASIC which command is used to display

all or part of the loaded program on the screen?

(D) Performers J/b,

(A) LIST (B) LOAD (C) RUN (D) SAVE
VIR AL LSSt d e Skt sy 24
e bl

24, Which type of expression is used to obtain a
numeric value as answer in the program?
(A) Relational F2% B) Arithmetic &/
(C) Algebraic —F1,4) (D) Logical 21
S bR L& NI pae oy fortesed 25
25. Which symbol is used to represent the Greater
Than or Equal to in the program?

(A) <= B) >= © <> (D) !'=

&l'ﬁa,gﬂq&lu:‘.'JE(":AIJL@D?U:&“.’.’&JJU‘Q:U)/LuijZyJ; 11
e tm

11. Which of the following is identified by black
border & address in name box in a worksheet?

(A) Cell J&

(C) Box UL

(B) Symbol =k
(D) Number 24

AP G P )
12. Spreadsheet is a computer .
(B) game (L

(D) document 13

sk ?..’

(A) application ¢

(C) image 6 I

e e d e U GudHE...... Ms Excel .13
13. The Ms Excel function returns the smallest

value from a supplied set of numerical values.

(A) SUM  (B) POWER (C) MAX (D) MIN
-‘at‘/dﬁﬁd}{ﬁjlu;ghf}fjéﬁ ----------- ug .14
14. A __ is followed by either values or cell

references and an operator.
(A) formula Us6 (B) chart =/
(C) row & (D) column Hl{

bt oSl 26 15

15. A formula always with an equal sign.

(A) begin {1 (B) end

(€) complete J* (D) run U
_‘g‘}tyzdw’/léérf}&vmf&j&%; ............ .16
16. The _____ bar can be used to edit cell’s data easily.

(B) Function u:,ﬁ

(C) Name 't (D) Status u"‘}'
99?/’?.«&57&‘”&&&4./0’%4]9&’/;ufJn;pJM .17
17. Which of the following can help in understanding

(A) Formula Us6

the logic of the problem-solving processes?

(A) Flowchart é/g}g (B) Design o1z}

37

(C) Input <! (D) Output g2
St P A b bt Pl bt etesd 18
18. In which symbol, only one flow line should enter
but two flow lines could come out?
(A) Output 237 (B) Decision $Jl-l<}
(C) Input /Output z5T/e )

(D) Process Jj

|Grade-8, Computer Paper-A, SBA|
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GRADE 8
COMPUTER EDUCATION

School Name

Tehsil: District:

Student Name: Section:

Roll Number: Date:
Use mask and keep 3 feet distance from each other. -&{.LJGK.*):Bﬂi{u*g/T/;iﬂJL (1)'.«Uxu'fi£#
Read carefully and attempt all questions. -J/J’_.,Uir(w;iu“’/c/f Q)

-mewu&aﬂw mm/uvi‘édum}w// A3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

-wd/u“ﬁu)wéum&u/ /_,Ludff@“(u/ /..ogdy_»,w&“w[ Je

Example: Which error occurs when the instructions written in a program do not follow the rules of the programming language?
7 v & 7
Al Syntax Error/”/iu'f"““ (B) Logical Error/“/u_)%u (C) Run-Time Error/{ir’t’u/ 3 (D) Execution Error /"/'u’:g/{'

50 .4 f :.«U'}“Ql';'ﬂ'/?/ 1S

‘-“auﬁ‘?/’%.z" budeUid3zar 5 | Instructions: Twenty five (25) Multiple Choice Questions

5.  Which of the following is not a threat to computer?
(A) Updating Data L/’/»LJ 25 (B) Worms s

(MCQs) are given in this paper. Each question carries 2

() Stealing L/ marks.
(D) Pirated Soﬁwareﬁﬁbf’)vl"«k/ﬂ *Ug/zéd"ﬂ*%‘{%’*w"ér’iw/?((zs)‘/:’g‘f:,/’w el
éﬁr‘at‘ﬂg:«bQ’rﬁl;,;{;}</;&£k£ﬂgo)5 Vu)/cufgfj.yﬂ .6 efvguf s %;{J[@LP.L.&R}”’L U)“é;“’l.t.%lf:"vg 1
St/ Sisle b et bl Pl
¢ il 1. A channel or path through which the data or information is
6.  Which of the following threat automatically plays, displays transferred from one place to another in a computer
or downloads advertisements on computer without user’s network is called:
knowledge? (A) Communication device '{:"uﬁ”g}“f
(A) Worms 7 (B) Virus 7l ) (B) Sending device ujﬂgﬁjﬂf
- ‘5’ “a & ’b
(©) Adware 722 (D) Spyware 7z }d't" (C) Transmission media | 4~ u/:H!/

e 7y b KYOR-74 . R o . s _
e X1 Vu[‘u:J"}"”M 7 (D) Receiving device V! '4&-@%/
7. Which of the following is a spreadsheet software? & . .
Bl AP S E S e S e tre B b slie s .2
(A) MS Office Excel 2007 -
A

(B) MS Office Word 2007 2.  When two or more computers are connected in a way that

(C) MS Office Power Point 2007 they can share information is called:
(D) MS Office Access 2007 (A) Internet & FI (B) Transmission u"H!/
- GC )i é E o e oy ed 8 (C) Network s’ (D) Communication u’“c 24
8.  Sheet tab can be used to bring the worksheet to the . '“t‘""'(' """"" -~ "“t‘/m”’/ié‘ﬂ”i’(’v{i”u“"c’*"f(
(A) front &L (B) back A 3. A computer in a network that relies on server for resources
g 5 is called
(C)  right /[ () left St (A) Server sy (B) Client L5
?‘ét".’t%‘{—”.ﬂ B F i s Lesly .9 (C) Powerful computer /"{V..U"AQ (D) Micro computer /",:V..g/? L
9. In spreadsheet software, the horizontal rows are identified by: - ‘at‘J‘z)/ /I’Z)‘U:.L. 7 L,{z‘ébfj’*;,, ____________ 4
(A) Numbers s/sf (B) Symbols = lle 4.  The network that connects the devices in small area is:
(C) Alphabets 3.7 (D) Pictures £3 (A) LAN (B) MAN (C) WAN (D) PAN

|Grade-8, Computer Paper-B, SBA| E'




18.

e bonen S SSRGS ek, 18
An obstacle/hurdle/difficulty/challenge that needs to be

solved is called:

(A) Problem X~

(C) Flowchart é/g}g
(D) Design of Flowchart ¢/ "{:"l{_‘«/.’lg}g

(B) Problem Solving A=

Jet oL LS e e SR RS s d 19

19.

20.

21.

22.

23.

24.

25.

?Jn

In Flowchart to make tea, which symbol will be used for

condition “Is Sugar needed”?
(A) Diamond Symbol etz
(B) Start Symbol k({5 o
(C) Input/ Output Symbol e Sy 3T/ )
(D) Processing Symbol :'/Llod/d/’LzJj
e SR PSSl 20

The pictorial representation of Decision process is:
(A) Process Symbol :'/Llid/ d/’LzJj
(B) Start Symbol k({5 o
(C) Diamond Symbol :'/Llodz. Y
(D) Input Symbol e Sy

S GG B & UG L L e 21

High level languages use which language to write a

statement?
(A) FORTRAN ¢ii? (B) COBOL J#¢
(C) DOS 13 (D) BASIC

- bt L r%;/;z{ug4@)#l};z{ 22
A computer program is stored as on the computer
storage.
A) file S&

(C) image 6 I

(B) document a1

(D) folder .42
fe JeS L L EUe Sy 23
In BASIC which of the following is the short-cut key for
LIST Command?
(A) F1 (B) F2 (C) F3 (D) F4

?‘gétg‘fdvpn;&_ﬁ,ﬁg{nuwdufu:é,@b@ 24
Which symbol is used to represent the exponent in BASIC
Language?
(A) + ®) - © ~ D) *
WIS AL L G G 25
In which year the BASIC Language was invented at
Dartmouth College USA?
(A) 1966 (B) 1965

(C) 1964 (D) 1963

10.

11.

12.

13.

14.

15.

16.

17.

S tbIEt r iy Leae bES ISP, 10
Which Dialog Box appears when a user saves a
spreadsheet?
(A) Save As (B) Save document
(C) Save file

e Qs P FE5.. L[ IMS Excel 2007 .11

MS Excel 2007 workbook is stored with extension:

(D) Save sheet

(A) xlsx B) xl (C) xls (D) .exl
Spreadsheet stores and present data in rows and
(A) columns / ¥ (B) grids 1S

(C) tables (D) fields ¥

e e dre e iU DA A _

The __ function returns the largest value from a supplied
set of numerical values.
(A) SUM (B) POWER (C) MAX (D) MIN

I F P L3Sty 135055 .14
Choose the correct option to find the value for 55 with
power 3?
(A) =POWER (55:3) B)
(C) =POWER (55=3) (D) =POWER (55,3)

et Lo SERL &y b SELTFE ... .15

function is used for addition of numbers specified

= POWER (55/3)

as arguments.
(A) SUM (B) POWER (C) MAX
e AT I MS Excel .16

In MS Excel, The

(D) MIN

bar also contains the Insert

function button.

(B) Function =

(D) Status U=

e SISl s L3 JJEEST a7

Which one of the following is a process of pictorial

(A) Formula Us6

(C) Name 't

illustration for solving a problem?
(A) Testing s (B) Designing ué/"{:”

(C) Defining .ﬁ’@ﬁ (D) Flowcharting ..ﬁ/.lg}’

|Grade-8, Computer Paper-B, SBA|
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School Name

Tehsil: District:

Student Name: Section:

Roll Number: Date:
Use mask and keep 3 feet distance from each other. -&{.Lﬂlsl{.*):Bﬂi{ui‘gﬂl’mﬂJt (1):&5%6}}“&&#
Read carefully and attempt all questions. -Q/’U’auir(ﬁuiuf’zc/f Q)

-gﬂu@td&&[ﬁg,ﬁ tcew/éo/’u{.,mé‘édww/é& A3)
Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
Example: Which country is located in north of Pakistan? ?‘adl:JVufufdG':Lul‘}@ J&

(A) India =, (B) Afghanistan ¢/t (E) China % (D) Iran Yl
50 L AF e U EUL2 L

-‘é‘z’:bl’" """""" 4 KJU:JLU’f' -3 ! Instructions: Twenty five (25) Multiple Choice Questions

5. Theoceans cover_____ of the surface of the earth:
(A) 50% (B) 60% ©) 71% (D) 81%
3‘¢t‘U»;(L‘/:J//J)’&;Wujl‘@.ﬂl(jy)ﬁrzujﬂﬁcg:&}j uﬁ'&/ .6 marks. B

6. Due to Gravity, the movement of soil and rocks on the 21&)"’“/5'%{9"’”"’(&@”'}( (25)J;:Ut£~“t.ﬂ @L'»}'
slopes is called: - /
(A) earthquake L7 (B) land sliding &2 A ey & 7

(MCQs) are given in this paper. Each question carries 2

(C) volcanism dl’“’&f T (D) floods Lk 1. we can see easily the boundaries of the countries in:
e ot SN S e L ebl g el 7 (A) political Maps J£U 51
7.  The cause of the oil spill in the water due to the accidents of (B) weather Maps - ,’spd}‘
oil tankers is: _ (C) commercial Maps JuP &/L?
(A) Water pollution d/d})‘l(}/‘l (D) cadastral Maps < u!‘pél:"/
(B) Air pollution S Ui”’ ol e LU Enle) 2
(C) Soil pollution J J)}J TJ g 2.  Statics data is shown in Roun‘d sl;;pe in:
(D) Noise pollution ST (A) bargraph LS &  (B) line graph S/
‘al:clal[(:m ;/u.‘!]{;‘l}.‘f(:ﬁ 8” lJ.:uV.gu 8 (C) pie graph J'/'; é& (D) scatter plot U~ <L /"f..c
8.  On the basis of horizontal distribution of temperature, the l‘gbm_ﬂlf}iﬁ—é-ﬂg'iqjj”(;} KUJJU-(LLJ; 3
earth can be divided in: 3.  The ridges of sand and silt accumulates along the banks of
(A) 2 regions - ULy (B) 3 regions U~ L the river during floods, are called:
(C) 4 regions U~ U}J’} (14 (D) 5 regions U~ U}J’} (A (A) Flood Plain ¢l Kb.‘ k- )
e tonr SR A00U TR S0l 9 (B) Natural Levees T
9. The forests in the mountainous areas of Pakistan, at an (C) Delta % (D) Meanders sk
altitude of 400 meters are: 4. “V” shape Valley is: :‘éand)hb}uvu 4
(A) dry forests = B (B) belle forests olf/)ﬁ..& (A) of Wind J lys (B) of River J 92
(C) alpine forests = £2¢f % (C) of Sea Waves (Us IS as
(D) coastal forests olf/)(}’ 2 (D) of Glaciers M

| Grade-8, Geography/History Paper-A, SBA | E




19.

:muuﬁa_dbé,ﬁ’”- 19

In 1905 Division of Bengal province gave loss to:
(A) Muslims JU5L+ (B) Hindus JUssis

(©) Sikh  JU” (D) All above sl

B VNP AT LUV embeenini PP 20

20.

21.

22.

23.

24.

25.

When Simon Commission visited India Jinnah league and
Congress boycotted the Commission because:

(A) no Indian had been included in it
YUt o desens”
(B) no lady was member of commission
LSS
(C) the commission did not offer autonomy
G s
(D) the commission did not bring any draft
_gUuﬁé)usJ/ﬂ
«:y’k”utww;gw&w‘/ et 21

How much The Muslim representation in Central
Legislature was demanded in the fourteen points?

(A) One fifth JIgLfl  (B) One half —JK_{i
(C) One third J7{ (D) One fourth 3£ 1
Bz =g LT 22

Jinnah’s fourteen points were the Muslim’s reply to the:
(A) Nehru Report Y4
(B) Simon Commission J”'{j; [
(C) White Paper ol
(D) Communal Award DITRY.

VI UL Dt ot f - 23
In Pakistan Resolution, separate Muslim states were
demanded those were:

(A) Independent (s:J7 (B) Sovereign

unﬂﬂri

(D) Independent and Sovereign (st/(%s530s15T
2 nprr el il b B F e F9 24

The talks being held from 9th September to 27th

Uiy (25
(C) Semi independent

September 1944, were known as:

(A) Nehru Ghandi talks <t =/1ig% 67
(B) Jinnah Ghandi talks <t =/ 1LgFETE
(C) Liagat Nehrutalks <t =t/iispe3y
(D) Ghandi Nehru talks =t /1 /856

B S 7TEaxr 25
(A) Lord Curzon il (B) Lord Minto ~ #¥4/1
(C) Lord Wavell (Jysis1

(D) Lord Mountbatten UELSY

Last Viceroy of India was:

10.

11.

12.

13.

14.

15.

16.

17.

18.

e bW bl BELEe 23w dveudiyi 10
A geographical or environmental area in which physical or
cultural similarity is found is called.
(A) Country & (B) Region &
(€) Area ik (D) Location &HSf
:‘galﬁfu%fgjolﬁl}" 11
The Silk Road connects Pakistan to:

(A) India =4 (B) Iran =l
(C) China e« (f* (D) Afghanistan < /IG5

(ML S g 2L =51 12
The countries using modern machinery in the field of
agriculture are:

(A) America, Britain ::lb/.‘.g Yd
(B) Pakistan, India ;ulﬁi‘ul}):l:
(C) Iran, Nepal J,l;f‘u'“/'
(D) Iran, Afghanistan O[=2{E Y

e Sledibb i 2d 13
In Geography, the fundamental importance is given to:
(A) Statistics /Ll (B) Tools  #lsl
(C) Shapes JJgs! (D) Mapping 4555
Gl ST 1857 14
‘Who was the last Mughal King in 1857?
(A) Babar  «| (B) Jahangir /:.[/ly
(C) Aurangzab
(D) Bahadar Shah Zafar /golﬁul./,
a2 Eig SUI ST B S 1857 15

The war of independence 1857 was a struggle by the

P

u‘d,’,'/}'

Muslims to get:

(A) the government Jr 6 31
(B) their rights JE0

(C) rid of the British occupation ¢ §bLLI(S Z/ﬂ
(D) government jobs Jr¥ U IhSE
:g;wﬁ‘fuiu/é.uG/Q//:;Léa_ééu;zﬁ 16

To avoid the British anger, Sir Syed Ahmad Khan advised
the Muslims:

(A) to join politics g /(gn‘J Gt et
(B) not to join politics U SEUE e
(C) wait and see u’.‘.”gw'u: S

(D) earn Islamic values UstJ e s IS

o For LISty 17
Syed Ahmed khan founded “Scientific Society” in which
year:
(A) 1857 (B) 1863 (C) 1862 (D) 1866

Division of Bengal was opposed by: J@VJJ@(;} 18
(A) Hindus (B) Muslims L s+
(C) Sikhs (D) British sy Al

Uk
é_upa

| Grade-8, Geography/History Paper-A, SBA |
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GRADE 8
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Tehsil: District:
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Section:
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Date:

Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

AN A AT (1) ea L b
G e U iy e ()

-+@uﬁutdcfﬁ5)§f Lcew/éo/’u{.,tzé‘édtyq@u% A3)

Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Which country is located in north of Pakistan?
(A) India <4 (B) Afghanistan ¢/t (E) China % (D) Iran iy

?‘ggl,JvaudeﬁLul;@ d@‘

50 /J(

A

= QG2 251 e f

10.

:‘g,gsd/é_fuf;zﬁéd.{gﬂbiuf:f@ .6

Lake Ataabad came into existence in Gilgit

because of:
(A) rains S (B) landslides G-l
(C) earthquakes <7 (D) floods -k

e fures ey 7
The greenhouse effect is causing:
(A) Floods 6k
(B) Global warming K.ﬁubg}r{
(C) Storms EUsbP (D) Earthquake 6%
‘e Mgl .8
Rice is the main crop of:

(A) Rainforest Region d/ 2&&15/)0:/('

(B) Desert Region Jﬁé'j‘
(C) Monsoon Region Jéuruy‘
(D) Tundra Region Jébﬂ

e 2 WL L Wl o] 9

The important occupation of the people of the
desert region of Pakistan is:
(A) Gardening (¥t (B) Farming d/”LG‘f(
(C) Herding VLULAZ (D) Poulry /3,

PRAS A SIS LR
Which of the following is the organization of
South Asian countries?
(A) B-C-O sl_g_y! (B) SAARC L

b

(C) NATO # (D) G-8 8-

Instructions: Twenty five (25) Multiple Choice Questions

(MCQs) are given in this paper. Each question carries 2

marks.

2L - Los a0 JENE Q5)UF U EUT el
-uAt

SIS A TS

1. Visual representation of surface of Earth is

classified as:
(A) ajourney plan (T? ¢ (B) directory (§ }’!.//"5
(C) scale <% (D) map =

e bbles WSS 2

2. How many Quantities are discussed in Line Graph?

(A) Two » (B) Three (&~
(©) Four (D) Five &l

3. What is deflation? sl A 3
(A) Erosion of air mountains t'/gcu;ilfg, Klse
(B) Carrying of sediments I e e 56
(C) Conversion of water into lakes L/’Z@U{” d/ UE¥ d,‘:
(D) Erosion with rocks W e Usz '

4. Types of Glaciers are: :‘grl{lw 4
(A) two » (B) three (&
(C) four e (D) six &

:‘guyﬂé.@.ﬁﬁﬂ.‘é)jﬁovufa uij,.yﬂ .5

5. Which of the following oceans is between Africa
and Australia:

(A) Indian Ocean Mf (B) Arctic Ocean d%ff
(C) South Atlantic Ocean (52447
(D) Pacific Ocean ng 7

| Grade-8, Geography/History Paper-B, SBA |
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18.

19.

20.

21.

22,

23.

24,

25,

A e (AT
After partition of Bengal, Muslim majority was in
which part?
(A) West Bengal Jl{/df’ (B) East Bengal Jl{/(.}'/””
(C) North Bengal JEJE (D) South Bengal Jl{/dr’
:l[bbb/u&b’ufw;y‘&;/ .19
A prominent part in the Swadeshi Movement was

played by:

(A) students of Bengal s Lrwédé'

(B) office bearer of India < (s/lx 4# &C’/}M
(C) shopkeepers Uik

(D) all of the above A RESyLa

& L ekt TP S 20

To obstacle in second round table conference was:
(A) problems of minorities J/L/LURF'
(B) problems of Hindus J/L/LULM
(C) problems of Muslims J/L/LUJW
(D) problems of the British i sy A1
SHot e g i S8 21

The Muslim representation in Central Legislature
given in Nehru Report was:

(A) One fifth Ul Lkl (B) One half —s=¢_{l
(C) One thirdJl7f] (D) One fourth $32 ]
2L L bus Lt 22

Jinnah'’s fourteen points were formulated in:

(A) 1927 (B) 1928 (C) 1929 (D) 1930
YU ulf e Ut e 35 1940 123

In Pakistan Resolution, which word was used in

place of Pakistan?

(A) Separate States Kuﬁwp.ﬁ [
(B) Separate Provinces Kuzﬂ.ﬁ I
(C) Separate Divisions Ku]"z»".ﬁ [
(D) Separate Districts Ku:’p ()

S Al okt 1943 24
The proposal of Hindu Muslim unity was presented
in1943 was:

(A) August proposals 45{?:/’7'
(B) Crips Proposals 45{?&:/’/

(C) Raj Gopal Acharia Formula U6,/ 1Jyf L
(D) Lord Wavell Plan S

W20 S etk 25
Radcliffe Award badly damaged the interests of:
(A) Hindus & Ussis (B) Muslims Z UL+
() Sikhs LZu#* (D) British sz S

11.

12,

13.

14,

:lzﬁ(.ﬂbuwsil;uf—’/&uu@ A1
Because of the efforts of Pakistan, Afghanistan
became the member of SAARC countries in:
(A) 2007  (B) 2009 (C) 2011 (D) 2008
eSS TS 5L 35 12
Annual population growth in developed countries
in comparison with developing countries is:
(A) less f/ (B) more
(C) equal

o)&)
£z (D) too muchasliest
e sl Loy S B30 13

The geographic information system and the global

positioning system depends upon:

(A) devices /?olJii (B) data /?/V"’ubw'
(C) computer technology /?&}th/";j,{

(D) map 4;'3’

WG by .14
Which country imperialized India?
(A) Britain b« (B) France J’ ¥

© Ialy Ji (D) China %

LS Blehl P e Ll K SUI 1857617 6 15

15.

After the failure of Muslims in the war of
independence 1857 which Mughal emperor was
exiled by the British?

(A) Aurangzeb Alamgir [.a l;_.q,];.fu'
(B) Zaheer-ud-Din Babar  «l¢/ ,J',,/c’;
(C) Jalal-ud-Din Akbar Iy Sl

/;bvlﬁj}l.z(

(D) Bahadur Shah Zafar

[BNSTF 5 1 ‘?JTJ,U?KLJ}.:‘('J-J/,.’.JJ;’LLG'»‘%IZ_UGII,{/ .16

16.

17.

Sir Syed Ahmed Khan gave an effective reply to Sir
William Muir’s work “Life of Muhammad” through

his treatise entitled:

(A) Tabeen-ul-Kalam CWIE

(B) Khutbat-i-Ahmadyah &=\

(C) Risalah Tahzib-ul-Akhlaq QWU 47l
(D) Asar ul Sanadid aobasT

o SUE I oy 17
Sir Syed Ahmed khan founded Ghazipur School in:
(A) 1857 (B) 1863 (C) 1862 (D) 1876
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